Monomials and Polynomials 3.1 (KEY)
Algebra 2
Simplify the following expressions. Show your work!
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Get the prime factorization for each number below.
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Factor the following polynomials.

68) 2x* +4x* + 6x 69) 5p° +20p° -15p° 70) —105* +12¢° +144d
2x(x? + 2x + 3) 5pi(p’ + 4p - 3) -2(5b* - 6¢* - 7d)
71) x*+Tx+10  72) p+11p +28 73) d* +4d-12  74) t' -2t -15
x+2)(x+)5) (p+7)(p+4) (d +6)(d-2) (t-5)(t+3)
75) v - 5v -6 76) z*-12z+32 77) ¢ +22¢ 4117 78) 74 j-42

(v-06)(v+1) (z-8)(z-4) (c+9)(c+13)  (G+7(-06)
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